Langsschnitt A-A w1100

in trassierter Achse der B71/ B74 =lo
10 Sl 40
=1
i
| | 2 |
) 7 F— A IS e i
Richung 12.40 i 5,00 — 200 S8 9.0 510 1240 Rihung
B71/ B4 Bremernaven B74 Stade / B71 Zeven
I
" 5.60 12.40 16.00 12.40 Fligel verschwenkt 2
1 slehe Draufsicht i
)
r T
I.I\ \\\\ 7'79 2 W,’///// /,////;//,’////:/: :/%:/:,: ;/:/:/;1:/; e /}/:////,: ﬁ’/’:’/’/’ '/////////////: Ll ” Y - 3
N X3
\ P s ‘ +3.21 HHW i ” Z i
Y, =~ = 4|§0' T A 5'0 r o errre WPl /
A\, __m o & 2 v @ o v /
g /
\ k72 A T —¥
\\ //, Xz, // AN / /4 //// ’r
I"‘ —————— 7 /:z A e +1.30°MHW 77 r‘/:/: ______ 4
k G2 Flach 4% 040 MNWZ/, % 3 A |
ache o - ;
8,54 m? 72! .
/// /// '1 BO ,I, ///
L LI 7,
. Flache Flache
2 2
| 50,70m 9.47m
I
o
o ‘ & =
3 F=
Vil [VAY) [VARVEE [VARV)
% —w —F v

Dok. 4.1: Bauzustand Variante 2
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